- o] o

NSM/NSM2
TYPE SPRING MOUNT

(HXEHL| : 25mm, 50mm)

EEr

LY AZd OIREEN WRIsuPt 240610 AZZO0| E2 L EE(X| 90t
BARX|SIIE ICH =X S0 HRIE e &= U= AOIX[7F AX|=]
UL, AoHE otR2ZE0| POLYCABONATE RHZEC| E2tAEICR M| U Z
Lo 5k=0f QX0 SHRR! LHEo| OFatEX|E Anti—friction rubberZt Q04
IH| UMS M UCH 5 A6HE FESHO| CRAISS| YXMHES &=
St0] STEEL ¥ ZEZ|E ™EA| | v 7|22 TXZ0| ME= W2 Y
K|St

-

HEel 14

No. =3 A 77
1 Non Skid Pad CR KS M 6617
2 Lower Housing E-PLASTIC -

3 Upper Housing E-PLASTIC -
SUP9 KS B 2402
4 Coil Spring
HSW3 KS B 2403
5 Upper Non Skid Pad CR KS M 6617
6 Level Bolt SS400 KS B 1012
HEQ 2=

—TT, HO o
o J7|Et ~EHIZ0] 2 FH|2| YTE

DIMENSION & SELECTION GUIDE BY LOADS

- xgols (Azg as| = | Dimenslon(mm)
(ko) | (kgf/mm) | (ko) (mm) A B c D H Level Bolt
NSM-25 25 1.0 0.44
NSM-50 50 2.0 0.46 132 104 66 13 115 M10 x 60
NSM-75 75 3.0 0.50
NSM-100 100 4.0 0.54
NSM-150 150 6.0 1.16
NSM-200 200 8.0 1.22 25 170 134 99 14 143 M12 x 65
NSM-300 300 12.0 1.36
NSM-400 400 16.0 1.38
NSM-500 500 20.0 2.08
NSM-600 600 24.0 214 192 152 112 14 167 M16 x 80
NSM-750 750 30.0 2.22
NSM2-50 50 1.0 2.44
NSM2-100 100 2.0 2.50
NSM2-150 150 3.0 2.46
NSM2-200 200 4.0 2.50
NSM2-300 300 6.0 2.70 50 223 183 137 14 180 M12 x 65
NSM2-400 400 8.0 3.06
NSM2-500 500 10.0 2.76
NSM2-600 600 12.0 2.62
NSM2-750 750 15.0 2.92

(NOTE) 2 74 & Xl= H

H SEHME s AR ol glo] HE & 4 ASLICE




NSM

Meke: Graph =744 Graph
100 1000
——NSM-25 ——NSM—-25
= ——NSM-50 T ——NSM-50
R ——NSM-75 § ——NSM-75
s ——NSM-100 % 100 ——NSM-100
2 2
z ! ——NSM-150 2 ——NSM-150
2 \ ——NSM-200 = —— NSM—-200
£ 01 ——NSM-300 e ——NSM-300
2 \ —— NSM-400 g 10 —— NSM-400
F0.01 \\ ——NSM-500 & —— NSM-500
| ——NsM-600 —— NSM-600
0,001 ——NSM-750 ; ——NSM-750
0 10 20 30 40 50 0 10 20 30 20 50
Frequency[ Hz] Frequency [Hz]
5 5 O
St5-842] Graph X g SAHAM
9 000 1000
——NSM-25
8 000 ——NSM-50 w
7 000 / ——NSM-75 =
6 000 v ——NSM-100 2 100
- g REILS Sl
Z 5 000 s ——NSM-150 s 222
2 o L et
8 / ——NSM-200 i -1
g4 000 o 5
P4 ——NSM-300 g SREE
3 000 // —— NSM-400 5 10 e
2 000 ——NSM-500 a
= —
1 000T— =1 ——NSM-600
——NSM-750
02 1
0 10 20 30 1 5 10 20 30 40 50
Displacement[ mm] Natural Frequency of the System[Hz]
o
M=HE Graph =74 Graph
10 1000
——NSM2-50 ——NSM2-50
— o . = o .
7 NSM2-100 £ NSM2-100
= ——NSM2-150 zZ ——NSM2-150
5 7 100
= 0.1 N ——NSM2-200 8 ]| ——NSM2-200
\ ——NSM2-300 £ ———— || —NsM2-300
0.01 P — ——— NSM2-400 g 0 | 1 —1| ——NSM2-400
——NSM2-500 < ——NSM2-500
[a]
0.001 ——NSM2-600 —— NSM2-600
——NSM2-750 ——NSM2-750
0.0001 1
0 10 20 30 40 50 0 10 20 30 20 50
Frequency[Hz] Frequency[ Hz]
St&-842| Graph HEX| T S AIARM
12 000 1000
—— NSM2-50
10 000 ——NSM2-100 ¥
——NSM2-150 g
8 000 $ 100
z / ——NSM2-200 3
® 6 000 ——NSM2-300 I
@
9 o
= . b 1T NSM2-400 £
— —— NSM2-500 3
2 000 ——NSM2-600
///:/
o /.—/,/___—.— —— NSM2-750
b 1
0 10 20 30 40 50 60 70 1 5 10 20 30 40 50

Displacement[ mm]

Natural Frequency of the System[Hz]




